[image: image1.png]



THE ECONOMIC POSITION OF THIRD-WORLD COUNTRIES:

AN ANALYSIS

By

Stephen V. Giordano

ABSTRACT


Third world countries are suffering from severe economic hardship. Families in these countries are often unable to afford the simple necessities of food shelter and clothing. Because these countries do not have adequate resources or are unable to use the available resources efficiently, they are stuck in a trap of poverty. The five aspects that contribute to economic poverty are:

· Quality of Labor Force

· Stock of Capital and Capitol Accumulation

· Technology

· Level of efficiency

· Population

When these aspects of the economy are not functioning properly it results in either the stop of economic growth of even economic decline.

  
If help is not provided to these countries they will only continue to worsen. When a country is stuck in the trap of poverty, the only hope is either governmental aid, which can be ineffective, or aid from private organizations and individuals willing to help. 

Introduction


A third-world country is a underdeveloped or developing country that is located in Asia, Africa, or Latin America (“third world,” 2000). These countries are unable to sustain themselves with their own resources, either because they don’t have enough of them or because they use them inefficiently. These resources can be anything from natural resources like grain and animals to technical resources like computers and machinery to human resources like able boded workers.  


In order for a country to function well, its economy has to be working properly. The country has to be producing enough goods and services to support it’s own people. In order to figure this out the reader must first have a form of universal measurement that can used to compare to other countries. 

This measurement is called gross domestic product (GDP). GDP is a measurement in dollars of how much a certain country is producing in a certain time period. This information is gathered by adding up the recorded sails of all goods and services, and then compiling then into one big number. The usefulness of the GDP is apparent when the population is known. By d3eviding the GDP by the number of people in a country, and adjusting for inflation, the average well being for a family can be calculate. This number is called GDP per capita (Sharp, Register, and Grimes, 2004). Although it is not a perfect measurement, and it has some flaws, GDP per capita does give a general idea on what the average family makes. This number is helpful for comparisons with other countries.  

Economic Problems

The  different economic problems in third-world countries include the following: quality of labor force, stock of capital and capital accumulation, technology, level of efficiency, and population (Sharp, Register, and Grimes, 2004). These different problems have their own implications, but also correlate with each other. They work together to either benefit of harm the country at large.

· Quality of Labor Force

The quality of a labor force is a difficult assessment to make. It is hard to discover just how well a force is skilled in a particular country. One way of doing this assessment is to analyze their education statistics. These statistics give a picture of how well the people are trained to do their jobs correctly and efficiently. Although literacy is important in this assessment, secondary and higher education must also be considered as well. The more a population is educated the better they will be at problem solving and innovation. Better education would help a third-world country, but it is difficult to develop a proper education system when most of the citizens can hardly afford food shelter and clothing. 

· Stock of Capital and Capital Accumulation

Capital is all of the non-human components that contribute to the production of goods and services. Capital includes both natural and man-made ingredients like land and machinery. A country must have capital first in order to grow economically. When a country is lacking the proper tools that it needs it is unable to grow. If a farmer has no land he cannot produce anything. Conversely, if he has thousands of acres of land but no tractor he can do very little. Most third-world countries have great potential for economic growth, but because of the lack of capital available to them they are stuck in poverty.

  In order for a country to break out of its poverty it must be able to accumulate capital first. The more a country has the more it will be able to produce. And the more it can produce the more it will have. In this way industry growth shows signs of capital accumulation, whereas the lack of industry growth or the decline of it shows that capital is also remaining stagnant or declining. 

· Technology

Technology is a form of capital, in that it can be a material object, but it also involves education in the modern production techniques. Technology can be considered  both a piece of machinery and the know-how to use it. Therefore, it is almost a combination of the stock of capital and quality of the labor force. When one of these areas is suffering so does the technology. When this problem happens it directly results in low productivity, which in turn promotes poverty.

Technology in the sense that it pertains to economics, is a whole lot more than computers and gadgets. It is instead relating to the components that make a countries production smoother. For example a tractor is considered technology because it enables workers to function much more efficiently that just using manual labor. 

It is necessary for a country’s workers to be equipped with proper technologies in order for the country to be efficient. But, unfortunately, many third-world countries do not have these resources, or what they do have is outdated and no longer effective. 

· Level of Efficiency

When education, stock of capitol, and technology is poor in a country the production of that country is inefficient. Third-world countries often do not use their available resources properly which results in waste. This waste can be anything from unused cropland to unemployed or underemployed workers.

· Population

Normally a high population is a beneficial factor to a countries growth and development. The labor force is one of the most important parts of a countries economy. In order for a country to develop properly it needs the labor force to accomplish what needs to be done. Without a adequate population, growth would be impossible. 


On the other hand, a population that grows too fast will only serve to drain the country’s needed resources. It is a bad sign when the population growth exceeds the GDP growth. This fact shows that the country is using up more of it’s capitol than it is producing. In this case, when the population grows, the country would be losing ground rather than gaining it. 

The countries that will be discussed in this report are as follows:  

1. Mexico

2. Thailand 

3. Philippines 

4. India

5. Ethiopia

These countries represent the whole third-world geographically and economically.  They are countries in the regions of Asia, Africa, and Latin America, and range from wealthiest to poorest. 

Mexico


Mexico is a country in Latin America that is the richest third-world country in the world. Some people even consider it to be a developed country because of how rich it is comparatively. The literacy rate is high but the industry growth is negative and the population is growing faster that the GDP growth. These factors make Mexico a third-world country. 

A Case Study of Mexico


A typical family from Mexico lives well compared to other third-world countries. The average mother and father are employed and are earning $9,000 (GDP per capita) a year (CIA, 2004). 18% of this labor force is in agriculture and animal husbandry , 24% is in industry and construction, and 58% is in government and services (CIA, 2003). The composition of the GDP in these areas is 4% for agriculture, 26.4% for industry, and 69.6% for services (CIA, 200x). The average mother is 25.5 years old, the average father is 23.7 years old, and they will have an average of 2.49 children (CIA, 2004). The population growth for Mexico is 1.18% yearly, and the death rate is 4.73 for every 1000 people yearly (CIA, 2004). The average life expectancy for a male in this country is 72.18, whereas a female lives an average of 77.83. The predominant ethnic group in Mexico is mestizo (Amerindian-Spanish), consisting of 60% of the population. The major religion is Roman Catholic, consisting of 89% of the population (CIA, 2004). The population of those who are living below the poverty line is 40%  (CIA, 2003).

Economic Problems in Mexico

Quality of Labor Force 


In the case of Mexico, its literacy rate is very high, 92.2% (CIA, 2003). This statistic is a good sign for Mexico, but other factors must be considered as well. Just because those 15 and older can read and write does not qualify them for higher level jobs. The jobs necessary to keep this country going require education beyond the primary level.  59.66% of Mexican’s continue on to this level, but the average amount of school years for an adult is only 7.2 (Nationmaster, 2000). 

Stock of Capital and Capital Accumulation

The following are the industries in Mexico ranking from highest to lowest in annual output: food and beverages, tobacco, chemicals, iron and steel, petroleum, mining, textiles, clothing, motor vehicles, consumer durables, and tourism (CIA, 2004). These industries are responsible for the use and production of this country’s capital. The industry production growth rate in Mexico is –0.7% (CIA, 2004). This statistic is a bad sign considering that in order for this country to move forward capital must increase. 


Some other factors that influence capital accumulation are transportation and communications networks. Mexico is ranked 16th in the world for telephone lines in use (CIA, 2003) and it is ranked 17th for the amount of highways it has (CIA, 1999).  

Technology


The level of technology in a country is a very hard assessment to make considering is involved both material technology and mental technology. Considering the level of education combined with stock of capitol is one way of judging a countries level of technology, but in no way a final assessment. In this regard, Mexico is doing well compared to other third-world countries. 


Another statistic that might bring enlightenment is the amount of internet users in a particular country. In Mexico there are 10,033,000 of these users (CIA, 2002). But this number is only about .016% of the whole world’s internet users. 

Level of Efficiency


Inefficiency in a country’s production results in wasted capitol and labor resources. Wasted labor resources result in unemployment and underemployment. Mexico’s unemployment rate is estimated to be 3.3%, with as much as 25% of the population that is underemployed (CIA, 2004). 

Population


A large population is beneficial for a country because it supplies the labor force for that country. The population of Mexico is 104,959,594 (CIA, 2004). And the population density is 52.15 people per square kilometer (Coutsoukis, 2000). Population growth in this country is 1.18%, whereas the GDP growth is only 1.3% (CIA, 2004). This is a bad sign for Mexico considering that GDP growth must exceed population growth in order for a country to benefit.

Thailand


Thailand is a country in Asia that is doing relatively well compared to other third-world countries. It’s literacy rate and industry growth are high and it’s unemployment is much lower than that of the USA’s. But because of Thailand’s large population  the benefits are spread out.  

A Case Study of Thailand

A typical family from Thailand lives moderately well  compared to other third-world countries. The average mother and father are employed and are earning $7,400 (GDP per capita) a year (CIA, 2004). 49% of this labor force is in agriculture and animal husbandry , 14% is in industry and construction, and 37% is in government and services (CIA, 2000). The composition of the GDP in these areas is 9.8% for agriculture, 44% for industry, and 46.3% for services (CIA, 2004). The average mother is 31.2 years old, the average father is 29.7 years old, and they will have an average of 1.89 children (CIA, 2004). The population growth for Thailand is .91% yearly, and the death rate is 6.94 for every 1000 people yearly (CIA, 2004). The average Life expectancy for a male in this country is 69.23, whereas a female lives an average of 73.71. The predominant ethnic groups in Thailand are Thai, consisting of 75% of the population and Chinese, consisting of 14% of the population. The major religion is Buddhism, consisting of 95% of the population (CIA, 2004). The population of those who are living below the poverty line is 10.4% (CIA, 2002).

Economic Problems in Thailand

Quality of Labor Force

In the case of Thailand, its literacy rate is very high, 92.6% (CIA, 2002). This statistic is a good sign for Thailand, but other factors must be considered as well. Just because those 15 and older can read and write does not qualify them for higher level jobs. The jobs necessary to keep this country going require education beyond the primary level. 85.42% of people from Thailand continue on to this level, but the average amount of school years for an adult in Thailand is only 6.5 (Nationmaster, 2000).

Stock of Capital and Capital Accumulation

The following are the industries in Thailand ranking from highest to lowest in annual output: tourism, textiles and garments, agricultural processing, beverages, tobacco, cement, light manufacturing such as jewelry, electric appliances and components, computers and parts, integrated circuits, furniture, and plastics (CIA, 2004). Thailand is the world's second-largest tungsten producer, and third-largest tin producer. These industries are responsible for the use and production of this country’s capital. The industry production growth rate in Thailand is 12.3% (CIA, 2004). This statistic is a very good sign considering that this number is more that four times the amount of the world’s average.

Some other factors that influence capital accumulation are transportation and communications networks. Thailand is ranked 27th in the world for telephone lines in use (CIA, 2003),  and it is ranked 61st for the amount of highways it has (CIA, 1999).
Technology

The level of technology in a country is a very hard assessment to make considering is involved both material technology and mental technology. Considering the level of education combined with stock of capitol is one way of judging a countries level of technology, but in no way a final assessment. In this regard, Thailand is doing well compared to other third-world countries. 


Another statistic that might bring enlightenment is the amount of internet users in a particular country. In Thailand there are 6,031,300 of these users (CIA, 2003). But this number is only about .01% of the whole world’s internet users.
Level of Efficiency

Inefficiency in a country’s production results in wasted capitol and labor resources. Wasted labor resources result in unemployment and underemployment. Thailand’s unemployment rate is estimated to be 2.2% of the population (CIA, 2004).

Population
A large population is beneficial for a country because it supplies the labor force for that country. The population of Thailand is 648,65,523 (CIA, 2004). And the population density is 126 people per square kilometer (Coutsoukis, 2000). Population growth in this country is 0.91%, whereas the GDP growth is 6.7% (CIA, 2004). This is a good sign for Thailand considering that GDP growth must exceed population growth in order for a country to benefit.
Philippines


The Philippines are a group of islands in south-east Asia that are very densely populated. Despite a very high literacy rate the Philippines have high unemployment, poor industry growth, and a high poverty rate. 

A Case Study of The Philippines

A typical family from the Philippines lives on a moderate level compared to other third-world countries. The average mother and father are most likely employed and are earning $4,600 (GDP per capita) a year (CIA, 2004). 45% of this labor force is in agriculture and animal husbandry , 15% is in industry and construction, and 40% is in government and services (CIA, 2003). The composition of the GDP in these areas is 14.5% for agriculture, 32.3% for industry, and 53.2% for services (CIA, 2004). The average mother is 22.6 years old, the average father is 21.6 years old, and they will have an average of 3.22 children (CIA, 2004). The population growth for The Philippines is 1.88% yearly, and the death rate is 5.53 for every 1000 people yearly (CIA, 2004). The average life expectancy for a male in this country is 66.74, whereas a female lives an average of 72.61. The predominant ethnic group in The Philippines is Christian Malay, consisting of 91.5% of the population. The major religion is Roman Catholic, consisting of 83% of the population (CIA, 2004). The population of those who are living below the poverty line is 40% (CIA, 2001).

Economic Problems in The Philippines

Quality of Labor Force

In the case of the Philippines, its literacy rate is very high, 92.6% (CIA, 2002). This statistic is a good sign for the Philippines, but other factors must be considered as well. Just because those 15 and older can read and write does not qualify them for higher level jobs. The jobs necessary to keep this country going require education beyond the primary level.  52.63% of people from the Philippines continue on to this level, but the average amount of school years for an adult is only 8.2 (Nationmaster, 2000).

Stock of Capital and Capital Accumulation

The following are the industries in the Philippines ranking from highest to lowest in annual output: electronics assembly, textiles, pharmaceuticals, chemicals, wood products, food processing, petroleum refining, and fishing (CIA, 2004). These industries are responsible for the use and production of this country’s capital. The industry production growth rate in the Philippines is –0.1% (CIA, 2004). This statistic is a bad sign considering that in order for this country to move forward capital must increase. 

Some other factors that influence capital accumulation are transportation and communications networks. The Philippines is ranked 46th in the world for telephone lines in use (CIA, 2002), and it is ranked 23rd for the amount of highways it has (CIA, 2000).

Technology 


The level of technology in a country is a very hard assessment to make considering is involved both material technology and mental technology. Considering the level of education combined with stock of capitol is one way of judging a countries level of technology, but in no way a final assessment. In this regard, the Philippines is doing average compared to other third-world countries. 


Another statistic that might bring enlightenment is the amount of internet users in a particular country. In the Philippines there are 3,500,000 of these users (CIA, 2002). But this number is only about .006% of the whole world’s internet users.
Level of Efficiency

Inefficiency in a country’s production results in wasted capitol and labor resources. Wasted labor resources result in unemployment and underemployment. The Philippines’ unemployment rate is estimated to be 11.4% of the population (CIA, 2004).

Population

A large population is beneficial for a country because it supplies the labor force for that country. The population of the Philippines is 86,241,697 (CIA, 2004). And the population density is 266.11 people per square kilometer (Coutsoukis, 2000). Population growth in this country is 1.88%, whereas the GDP growth is 4.5% (CIA, 2004). This is a good sign for the Philippines considering that GDP growth must exceed population growth in order for a country to benefit.
India


India is a economically growing country in Asia. Its industry and GDP growth and relatively low unemployment are good signs despite poor literacy and high population growth. Because of India’s large population the benefits of this country are spread out amongst the people which makes it a pool country. 

A Case Study of India

A typical family from India lives poorly compared to other third-world countries. The average mother and father are most likely employed and are earning $2,900 (GDP per capita) a year (CIA, 2004). 60% of this labor force is in agriculture and animal husbandry , 17% is in industry and construction, and 23% is in government and services (CIA, 1999). The composition of the GDP in these areas is 23.6% for agriculture, 28.4% for industry, and 48% for services (CIA, 2002). The average mother is 24.4 years old, the average father is 24.4 years old, and they will have an average of 2.85 children (CIA, 2004). The population growth for India is 1.44% yearly, and the death rate is 8.38 for every 1000 people yearly (CIA, 2004). The average life expectancy for a male in this country is 63.25, whereas a female lives an average of 64.77. The predominant ethnic groups in India are Indo-Aryan, consisting of 72% of the population and Dravidian, consisting of 25% of the population. The major religions are Hindu, consisting of 81.3% of the population and Muslim, consisting of 12% of the population (CIA, 2004). The population of those who are living below the poverty line is 25% (CIA, 2002).

Economic Problems in India
Quality of Labor Force

In the case of India, its literacy rate is low, 59.5% (CIA, 2003). This statistic is a bad sign for India because an educated work force is necessary in order to have a good economy. And other factors must be considered as well. Just because those 15 and older can read and write does not qualify them for higher level jobs. The jobs necessary to keep this country going require education beyond the primary level. The average amount of school years for an adult in India is only 5.1 (Nationmaster, 2000).

Stock of Capital and Capital Accumulation

The following are the industries in India ranking from highest to lowest in annual output: textiles, chemicals, food processing, steel, transportation equipment, cement, mining, petroleum, machinery, and software (CIA, 2004). These industries are responsible for the use and production of this country’s capital. The industry production growth rate in India is 6.5% (CIA, 2004). This statistic is a good sign considering that this number is more that twice the amount of the world’s average.


Some other factors that influence capital accumulation are transportation and communications networks. India is ranked 6thth in the world for telephone lines in use (CIA, 2003), and it is ranked 2nd for the amount of highways it has (CIA, 1999).

Technology

The level of technology in a country is a very hard assessment to make considering is involved both material technology and mental technology. Considering the level of education combined with stock of capitol is one way of judging a countries level of technology, but in no way a final assessment. In this regard, India is doing well compared to other third-world countries. 


Another statistic that might bring enlightenment is the amount of internet users in a particular country. In India there are 18,481,000 of these users (CIA, 2003). But this number is only about .03% of the whole world’s internet users.

Level of Efficiency

Inefficiency in a country’s production results in wasted capitol and labor resources. Wasted labor resources result in unemployment and underemployment. India’s unemployment rate is estimated to be 9.5% of the population (CIA, 2004).

Population

A large population is beneficial for a country because it supplies the labor force for that country. The population of India is 1,065,070,607 (CIA, 2004). And the population density is 324 people per square kilometer (Coutsoukis, 2000). Population growth in this country is 1.44%, whereas the GDP growth is 8.39% (CIA, 2004). This is a very good sign for India considering that GDP growth must exceed population growth in order for a country to benefit.
Ethiopia


Ethiopia is a country in Africa, and is one of the poorest countries in the world. Because of it’s rural atmosphere jobs area scarce, education in minimal, and therefore poverty is widespread. Because so many people live in poverty it is difficult for Ethiopia to make any economic progress. 

A Case Study of Ethiopia 

A typical family from Ethiopia lives very poorly compared to other third-world countries. The average mother and father are sometimes employed and are earning $700 (GDP per capita) a year (CIA, 2004). 80% of this labor force is in agriculture and animal husbandry , 8% is in industry and construction, and 12% is in government and services (CIA, 1985). The composition of the GDP in these areas is 46% for agriculture, 12.6% for industry, and 41.4% for services (CIA, 2004). The average mother is 17.4 years old, the average father is 17.3 years old, and they will have an average of 5.44 children (CIA, 2004). The population growth for Ethiopia is 1.89% yearly, and the death rate is 20.36 for every 1000 people yearly (CIA, 2004). The average life expectancy for a male in this country is 40.03, whereas a female lives an average of 41.75. The predominant ethnic groups in Ethiopia are Oromo, consisting of 40% of the population and Amhara and Tigre, consisting of 32% of the population. The major religions are Muslim-, consisting of 45-50% of the population and Ethiopian Orthodox, consisting of 35-40% of the population (CIA, 2004). The population of those who are living below the poverty line is 50% (CIA, 2004).

 Economic Problems in Ethiopia
Quality of Labor Force

In the case of Ethiopia, its literacy rate is very low, 42.7% (CIA, 2003). This statistic is a bad sign for Ethiopia because an educated work force is necessary in order to have a good economy. And other factors must be considered as well. Just because those 15 and older can read and write does not qualify them for higher level jobs. The jobs necessary to keep this country going require education beyond the primary level.  And only 12.72% of Ethiopian’s continue on to this level (Nationmaster, 2000).  

Stock of Capital and Capital Accumulation

The following are the industries in Ethiopia ranking from highest to lowest in annual output: food processing, beverages, textiles, chemicals, metals processing, and cement (CIA, 2004). These industries are responsible for the use and production of this country’s capital. The industry production growth rate in Ethiopia is 6.7% (CIA, 2001). This statistic is a good sign considering that this number is more that twice the amount of the world’s average.


Some other factors that influence capital accumulation are transportation and communications networks. Ethiopia is ranked 97thth in the world for telephone lines in use (CIA, 2003), and it is ranked 85th for the amount of highways it has (CIA, 2000).

Technology 

The level of technology in a country is a very hard assessment to make considering is involved both material technology and mental technology. Considering the level of education combined with stock of capitol is one way of judging a countries level of technology, but in no way a final assessment. In this regard, Ethiopia is doing poorly compared to other third-world countries. 


Another statistic that might bring enlightenment is the amount of internet users in a particular country. In Ethiopia there are 75,000 of these users (CIA, 2003). But this number is only about .0001% of the whole world’s internet users.

Level of Efficiency

Inefficiency in a country’s production results in wasted capitol and labor resources. Wasted labor resources result in unemployment and underemployment. Ethiopia’s unemployment rate hard to determine due to the rural atmosphere.  But it has been estimated to be as high as 50% between those 15-30 (Serneels, 2004). This age group represents more that 60% of the entire population, therefore this estimate is a significant number. This statistic is one of the highest unemployment rates in the entire world. 

Population

A large population is beneficial for a country because it supplies the labor force for that country. The population of Ethiopia is 1,341,664 (CIA, 2004). And the population density is 53.3 people per square kilometer (Coutsoukis, 2000). Population growth in this country is 1.89%, whereas the GDP growth is only –3.8% (CIA, 2004). This is a very bad sign for Ethiopia considering that GDP growth must exceed population growth in order for a country to benefit.

Conclusion

The third-world countries that have been discussed above are in dyer need of economic help. Because of these country’s condition, many of them find it difficult to climb out of the cycle of poverty. A country cannot support it’s people unless it is functioning well economically. But a country cannot function well economically without the support of its people. A country cannot work toward economic improvement if its people are still struggling with the basics of food shelter and clothing. In this way, third-world countries get stuck and sink deeper in to poverty because they have no way of moving forward. 

Recommendations

So the question is, “What can be done to help these impoverished countries?” The obvious answer is to improve the aspects of quality of labor force, stock of capital and capital accumulation, technology, level of efficiency, and population. But how I can this  improvement be accomplished?  This improvement is accomplished through aid from internal and external governments, private agencies and the individual. 

Government Aid


Over the last few decades third-world countries have looked more and more to governments for economic help. Therefore these governments have accepted more and more responsibility for solving the economic problems in these countries. But often times people expect more from governments than they can provide. And governments often promise more to these countries than they are able carry out (Sharp, Register, and Grimes, 2004). The impact of government can sometimes be detrimental to the growth of a country but for the most part it is helpful. 

Benefits of Governmental Aid 

In the case of third-world countries, there are areas in the economy that would not be able function without the aid of government.  In this case it is necessary that the government get involved. The government should serve to improve quality of labor force, enhance capital accumulation, increase technology, improve levels of efficiency, and possibly slow population growth (Sharp, Register, and Grimes, 2004). 

The way that governments can improve the quality of labor force is by improving education. In order for this improvement to take place, well functioning schools must be in place. But the development of an educational system takes time and money. For a country that can hardly provide food for its people, this development would be difficult.

Government help toward capital accumulation is, for the most part, indirect. A government cannot produce capital directly, so it instead develops policies that encourage capital growth. An example of this would be to provide a tax incentive for a growing industry.

Technology and level of efficiency are difficult aspects for a government to improve in a third world country. The best way is indirectly. Developing good transportation and communication networks sets the stage for the improvement of technology and efficiency. 

Educating a country about birth control and family planning has proven to be an effective method for population control. This education is a way that the government can help the economy. 

Besides local government aid, there is also aid from international agencies, like the World Bank. These agencies use money from developed countries and provide loans and grants to help third-world countries. This system, hopefully, enables a country to build up its economy and, in time, be able to stand alone.  

Disadvantages of Governmental Aid


The most important decision that a government must make concerning it’s country’s economy is the level of involvement it will have on the decision making process. This decision could be anywhere from little or no government involvement to government controlling all of the economic decision making.  

Generally, the more a government gets involved in economic decisions the worse it is for the country’s economy. It is better when private parties own the recourses rather than the government (Sharp, Register, and Grimes, 2004). This concept allows the private business owners to benefit from their own decisions. Therefore they will have an incentive to make good decisions, which will in tern benefit the country at large. Sometimes, when private business succeed they get taxed to a point where it is no longer beneficial for them to grow. And therefore they stagnate. This example shows how government can be detrimental to an economy.  But normally governmental aid is beneficial, especially for the areas in an economy that cannot be self sustained. 

Private Organizations

Private organizations do the same thing as governmental aid, except the help is on a much lower scale. Rather than providing aid for an entire country, private organizations serve the individual people in that country. For example, the organization Compassion International focuses on supporting  the children in third-world countries. They provide education, clothing, food, and other supplies that benefit children and their families. By providing for individuals, private organizations indirectly help the country at large. Because, when healthy, educated, stable people live in a country, the country itself is healthy, stable and educated.

The Individual  


The individual is the middle-class American with his full refrigerator, nice car, and cozy house. People like this are blessed with all of the necessities of life and even more. In comparison with the average person living in an impoverished, third-world country, the average American is extremely rich. Two-thirds of the world’s population go to bed hungry at night (Sharp, Register, and Grimes, 2004), while the USA suffers with the problem of obesity. It is unethical for middle class Americans to enjoy wealth while their fellow humans struggle to survive. If they instead rise up and support these suffering people through private organizations and the like, they could change their lives forever. Americans have been so blessed with the condition of their economy, they should share their wealth and make the world a better place for everyone. 

Summary

Third world countries are under economic hardship. They are stuck in a trap because of their lack of resources or inability to use the available resources properly. Governmental aid is, for the most part, beneficial but it still has its problems. It can help an economy in the places where a natural self functioning business can’t. But a lot of the time this aid is insufficient or used incorrectly. Therefore, private organizations, supported by the individual, are much more effective. They enable the people in third-world countries to better themselves by providing education and needed resources. The aid that comes from private organizations enables a country to break out of the trap of poverty and achieve economic victory. 
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